
Front Inner Fender Liners

(1) Contents:

BXG.7012-S



Qty Part Name Size(mm) Picture

12 Button Head Socket Cap Bolts Screws M6*25

14 Button Head Socket Cap Bolts Screws M6*10

2 Button Head Socket Cap Bolts Screws M6*16

8 Button Head Socket Cap Bolts Screws M4*8

12 Flat Washer M6*16*1.5

22 Flange Hex Lock Nuts M6

8 Nylon Insert Lock Nut M4

2 Flat Washer M6*16*1.5



(2) Tools required:

(3) Installation time:
About 2 hours, 1-2 people may be needed. Installation time may differ

according to your mechanical skill level.

(PLEASE VERIFY ALL PARTS ARE PRESENT AND READ INSTRUCTIONS

CAREFULLY BEFORE STARTING INSTALLATION!)

To view the electronic version (BXG.7012-S), please scan the QR code.

a. Drive Socket Ratchet Wrench；

b. 4mm Hex Bit Socket;

c. 8mm & 10mm Wrench;



(4) Installation instruction:
Front Uninstall:

Step 1: Use a 10mm socket to remove the bolts along the top and at the front

of the inner fender. Use a trim clip tool to remove the clips on interior of the

inner fender. Use a trim clip tool to remove the clips running along the

outside lip, securing the inner fender to the vehicle. Remove inner fender by

pulling down, then out. Note: Pictured are uninstall and installation of the

passenger side fender.



Step 2: Unplug the turn signal indicator by pulling the red release tab out and

pulling.

Step 3: Use a 10mm socket to remove the bolt securing the fender to the

vehicle. Then, remove the fender by pulling away from the vehicle to release

the clips. Be sure to pull “straight” away from the vehicle to avoid breaking

clips. Clips will not be re-used, breaking one or two is normal and nothing to

worry about.



Step 4: Use a trim clip tool to remove the factory clips along the fender.

Repeat process for the other side.

Passenger Side Installation:

Step 5: To install the decorative plate into the front inner fender liners (A2).

Use the button head socket cap bolts screws (M4*8), nylon insert lock nut

(M4).



Step 6: To assemble the front inner fender liners (A2, B2, C3). Use the button

head socket cap bolts screws (M6*10), flange hex lock nuts (M6).

Step 7: To install the mounting brackets (1). Use the button head socket cap

bolts screws (M6*25), flat washer (M6*16*1.5). Don’t tighten up those bolts.



Step 8: To install the mounting bracket (2). Use the button head socket cap

bolts screws (M6*16), flat washer (M6*16*1.5), Flange Hex Lock Nuts (M6).

The nut needs to be inserted from underneath. Don’t tighten up those bolts.

Step 9:Firstly, to install the upper two holes. you need a helper to lift up it

when you screw those bolts. Use the button head socket cap bolts screws

(M6*25), flat washer (M6*16*1.5), Flange Hex Lock Nuts (M6). Don’t tighten

up those bolts.



Step 10: To install the right hole. Push it inside before you screw bolt. Align

the hole and screw the bolt. Use the button head socket cap bolts screws

(M6*25), flat washer (M6*16*1.5). Don’t tighten up bolt.

Step 11:To install the left hole. The nut needs to be inserted from underneath.

Use the button head socket cap bolts screws (M6*25), flat washer (M6*16*1.5),

Flange Hex Lock Nuts (M6).



Step 12: Tighten up those bolts together. Repeat the same installation in the

driver side.

Step 13:

The installation is complete. We hope you enjoy a wonderful off-road life

with this quality Hooke Road product!



Attention:
1.The product parts in this instruction may differ slightly from the

actual product contents but generally does not affect the installation
of the product.

2.Please feel free to contact your distributor if you have any kind
of question about your purchase.


